Summary Sheet for
Upward-Left Slashes

Pattern

Left Crossbar of T-Start
is the Contrast Strand
for Upward-Left Slashes

1,2, 3 indicates the order
that one begins braiding

Contrast
Strand
location for
Upward-Left
Slash Pattern

1. Left diagram shows the confrast strand location: the left half of the crossbar on the T-Start.
2. Right Diagram shows the arrangement of strands at the braided T-Start.
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3. Left Diagram shows how to count loops on the straight braid, which must be a multiple of 3.
4, Right Diagram shows the asterisked contrast strand location before beginning the 2-DC turn:
the last inside loop (folded edges side) before braiding the first double corner, or the “B” loop.

5. In the last diagram, note how the loops match up diagonally across the center line. The upper braid’s
contrast loop is displaced just to the left of the bottom conftrast loop. E-lace or shoe-lace as you prefer.

Make 3 skips around T-Start

knot after
e-lacing or
shoe-lacing

5 Increases
Around 2-DC
Turn: 4 skips

+ 1 (Go Thru 2 Loops) GoThru 2 Loops

6. Left Diagram shows how fo lace around the T-Start, making 3 increases by skipping 3 loops.
7. Right Diagram shows making S increases around the double corners by skipping loops 4 times and going
through 2 loops once. Alternatively, see left diagram on page 21.

8. All addifional curves have a multiple of 3 increases (usually 3 or é) to keep the pattern constant for as many
rows as you want.



Summary Sheet for
Dot Paitern

Contrast
Spoke of T-Start is the Strand
Contrast Strand for Dots || 3
1,2,3 indicates the order ! location
that one begins braiding for Dot
Pattern

1. Left diagram shows the confrast strand location: the spoke of the T-Start.
2. Right Diagram shows the arrangement of strands at the braided T-Start.
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3. Left Diagram shows how to count loops on the straight braid, which must be a multiple of 3.
4, Right Diagram shows the asterisked contrast strand location before beginning the 2-DC turn: the last outside
(smooth edges side) loop before braiding the first double corner.

5. In the last diagram, note how the loops match up across the center line. Find a lower braid contrast loop
next to the center line. The upper braid’s confrast loop must be one diagonal set to itsright. E-lace or shoe-

lace as you prefer.

knot after
e-lacing or
shoe-lacing

Go Thru

2 Loops 4 increases around T-Start 5 increases around 2-DC turn

6. Left Diagram shows how to lace around the T-Start, making 4 increases by skipping 3 loops and going

through 2 loops, once.
7. Right Diagram shows making S increases around the double corners by skipping loops 4 times and going

through 2 loops once. Alternatively, see right diagram on page 21.
8. All addifional curves have a multiple of 3 increases (usually 3 or é) to keep the pattern constant for as many

rows as you want.




Summary Sheet for
Upward-Right Slashes Pattern
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Right Crossbar of T-Start Contrast
3| isthe Contrast Strand Strand
for Upward-Right Slashes location for

Upward-Right

1,2,3 indicates the order
Slash Pattern

that one begins braiding

. Left diagram shows the confrast strand location: the right half of the crossbar.
2. Right Diagram shows the arrangement of strands at the braided T-Start.
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3. Left Diagram shows how to count loops on the straight braid, which must be a multiple of 3.
4. Right Diagram shows the asterisked contrast strand location before beginning the 2-DC turn: the last

5. In the last diagram, note how the slashes match up across the center line. E-lace or shoe-lace as you

5 increases aroUnd T-Start Sincreases around 2-DC furn
6. Left Diagram shows how to lace around the T-Start, making 5 increases by skipping 3 loops and going
through 2 loops, twice.

7. Right Diagram shows making S increases around the double corners by skipping loops 4 times and going
through 2 loops once. Alternatively, see left diagram on page 21.

8. All addifional curves have a multiple of 3 increases (usually 3 or é) to keep the pattern constant for as many
rows as you want.



